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SARDAR PATLEL Ui UVERSITY
B.Com fxamination,Sth Semester{On Demand Examination)

Thursday i4th Jul2022

Session: Time: 10.00 AM.TO12:00P.M.

Subject/Course Title: Business Statistics-111 (UBOSCCOM1 1)

Note: 1. This question paper contains 8 questions you have to answer any 4 from these.

2. Each question is of 15 marks.

Que: 1 Answer the following questions,

(A) Find mean and standard deviation for a hyper geemetric distribution it m=5, n=5 and =5 i)

(B) Probability of hitting a target by a person is 1/2 , then find the probability of hitting the 1

arget 6" tine
On 10" trial also find me

an and variance of failure before hitting the target 6™ time. (8

Que: 2 Answer the following questions.

(A) Describe geometric distribution and write probability mass function of it. 7

{B) Getting a head is considered as success in tossing a fair coin once. Then find probability of

Getting Sth time head at 10th toss, Also find mean and variance of the distribution.

{8)
Que:3 Answer the following questions.
(A) What is game theory? Explain its mathematical form and also explain the saddle point e
£ p I
method of solving the game theory.
(B) Solve'the following Game theory problem. (8)
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Que:4 Answer the following questions. '
(A) For the follfowing data find optimal sequence and total ideal time for both the machines, (7
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(B) Solve the following Game theory problem.
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Que:5 Answer the following.
(A) Discuss the methods of collection of vital statistics.

(B) Compare the standards of health of the following two cities, and identify which city

AGE CITY A TYs N

' No of No of

- Population { Deaths Population | Deaths
05 17000 400 40000 | 1100 |
5-10 30000 150 100000 400 |
1550 | 35000 400 150000 | 1600

50-70 18000 600 650000 2300 ]

Que:6 Answer the following,

(A) From the following information calculate GFR, SFR and TFR.

Age No of women ‘Total no. of births
15-19 37000 1110 !
20-24 30000
25-29 27000
30-34
35-39
40-44

45-49

(8

(7}

is more healthier, (&)
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{B)From the following data caleul

ate SDR of the three citics by taking A as st

“State which city is more healthier among these,

[ hce

Below 5
5-25
25-60

Aboves(

Ty A

| Population
15000

50000
120000
15000

No.of

250
840

degﬁfiiopulation |

10000
52000

375

126000
12000

andard city.

Que:7 Answer the following

(A) Explain Product control in detail.

{B) Draw OC curve for sampling

(e7'=0.3678, ¢ =0.13532, e =0.0498, ¢ =0.01829, ¢~°

Que:8 Answer the following,

{A) Find the probability of acceptance for (80,8

(B) For sampling plan {800,120,2) we have following information P

curve also find AOQL.

plan (1000,200,2) find producer’s risk and consumer’s risk.

;0) with p*=0.025

repare ASN.AOQ and ATI

(8

(8)
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